MIDTERM II
PHYSICS 6B, WINTER 2011
SCHUMM

PLEASE PUT YOUR NAME ON YOUR EXAM RIGHT AWAY

P = F/A




(P/(h = (g

(vA = constant



P + ½ (v2 + (gy = constant

(Q = C (T




(Q = mc(T
H = -kA((T/(x)



H = -(T/R
R = (x/(kA)
R = RA = (x/k



P = e(AT4
PV = nRT




< ½ mv2 > = 3/2 kT

Q = Lm




( = ((V/V)/ (T;  ( = ((L/L)/ (T

(U = Q – W
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Q = W = nRT ln(V2/V1)


PV( = constant; TV(-1 = constant; ( = CP/CV
C = (1/n) ((U/(T)



e = W/Qh = 1 – (Qc/Qh);  Qh = W + Qc
ecarnot = 1 – (Tc/Th);   Qc/Qh = Tc/Th

(S = (Q/T
g = 9.8 m/s2




( = 5.67 x 10-8 W/(m2K4)
k = 1.38 x 10-23 J/K = Boltzmann Constant
cwater = 4184 J/(kg-K)
Heats of Transformation for Water:  

Lmelt = 334 kJ/kg
Lboil = 2257 kJ/kg
0 C = 273.2 K




TF = (9/5)TC + 32
1 Atm = 101.325 kPa



R = NAk = 8.314 J/K
v = (f;
k = 2(/(; ( = 2(f

           y(x,t) = Acos(kx - (t); y(x,t) = sin(kx)sin((t)
v = ((F/(); v = (((P/(); v = (((g/2()
<P> = ½ ((2A2v

A = 4(r2




( = 10 log10 (I/I0) dB; I0 = 10-12 W/m2
f ` = f/(1(u/v)




S = S0 cos2 (
n = c/v;     c = 2.998 x 108 m/s

n1 sin(1 = n2 sin(2
tan (p = n2/n1 




sin (c = n2/n1
Speed of sound in air: 344 m/s
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